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Question Type:
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Topic: Chemistry-Section A
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Question ID: | 11694061
Question Type: | MCQ
S =S 6 1 10.8% e el S 005 sl 8250 um oSSR D
Question: - Y 5
(H,1u; C12u; 0,16 u t CuaS (5 5 - — LE L)
A 1.03
B: 2.06
C: 3.09
D: 5.40
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Question Type:
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Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 65

Question ID: 11694065

Question Type: | MCQ
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A: M, =4Mp

B: Mg = 4M

C: M, =8Mp

D: Mg = 8M

Topic: Chemistry-Section A
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Question ID: 11694066

Question Type: | MCQ
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Question Type:
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Question Type:

MCQ
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Question Type:
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Chemistry-Section A
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71

Question ID:
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Question Type:

MCQ
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Question ID: 11694072

Question Type:

MCQ
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Question Type:
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Question Type:

MCQ
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Question ID: 11694075
Question Type: | MCQ
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Question ID: 11694077
Question Type: | MCQ
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Question Type:

MCQ
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(Molar masses : AgBr = 188 g mol™}; Br=80 g mol™)

34.04%




B: 40.04%

C: 36.03%

D: 38.04%

Topic: Chemistry-Section A
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Question ID: 11694080

Question Type: | MCQ
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Question ID: 11694081

Question Type:

Numeric Answer
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2NO + 2H, — N, + 2H,0
LE LS aalliaa 3 800°C 1S Jalal Sy
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o s Al ISH, 53 Sl K NO rond i
ion: / kPa {—dp |
Question: kPa | dp | (kPa /s)
vdt |
1 63.6 40.0 0.135
2 63.6 20.1 0.033
3 386 63.6 0.214
4 19.2 65.6 0.106
et A 218 Lot — el SNO
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Question Type:

Numeric Answer
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Question Type:

Numeric Answer

300K £ o TR mol ™ 20,785 i slsied ¥ ga 8 o e S g 8 e

Question: Jge S € ypaa Jlue. — 75000 Los o 8 g 2 g 5 K S5 SO0K. o
(S e 2SS maea SOl W)= Sl S
(R=8.314TK lmol!): =1t
Topic: Chemistry-Section B
Item No: 85
Question ID: 11694085

Question Type:

Numeric Answer
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Question Type:

Numeric Answer
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Question Type:

Numeric Answer
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Question Type:

Numeric Answer
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Question ID: 11694089

Question Type:

Numeric Answer
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Question ID: 11694090

Question Type:

Numeric Answer
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